4 Rg=18761KN

=8 kN
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AUTODESK" FORCEEFFECT"
A R, =41.244 kN
Fz =10 kN
N | g, =15k
A
'Q._ = 45,005 kN
Inputs:
Elements
Element Length Weight
A-B 6.000 m
Forces
Force [ Direction Size Angle
Fi + 5.000 kN | 270.0°
Fo 4 10.000 kN | 270.0°
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Distributed Loads

Distributed Load | Direction Size
Q1 s 45.005 kN (15.000 kN/m)
Results:
Reaction Forces
Force | Direction Size Angle
Ra 1 41.244 kN | 90.0°
Rg 1 18.761 kN | 90.0°
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Element A-B

Ry, =41.244 kN

R, = 18.761 kN

F?=10h.1‘\|
FE=5kN
Q=15 m | 1

AN i

¥a, =4500510

Equations Results

5M =0 => 6.000 x Rg7[y] = —Fi[y] X 4.999 — Fa[y] X 2.005 — Qq[y] X 1.500 | Razqx] = —0.000 kN
3Fx1 =0 =>Ra7[x] + Re7(x] = =F1[x] — F21x1 — Q1[x3 Ra7ry] = 41.244 kN
2F[y] =0 =>Ra7[v] + Re7ry] = —F1pv] — F2ryy — Qupyg Rg7[x] = 0.000 kN
2F[x] =0 =>Rarx] —Ra7[x] =0 Re7ry] = 18.761 kN

5Frv) = 0 =>Rary] ~Raz[y) = 0
SFx] = 0 =>Rg x €0s(270.0) — Rg7[x] = 0
SFry] = 0 => Rg X sin(270.0) — Rg7[y] =0

Shear Force and Moment Diagram

41.244 10 5 18.761

45.005
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